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https://drive.google.com/folderview?id=0BwwEErkugSaLTnpIaTNsNTZfeWM&usp=sharing QUESTION 31Which of the

following is true with respect to Cisco Adapter FEX? A.    Cisco Adapter FEX extends the Cisco FEX technology into a traditional

rack servers MoR design.B.    An EoR design is not permitted with Cisco Adapter FEX.C.    Cisco Adapter FEX extends VDCs

across multiple Cisco Nexus switches.D.    A ToR design is not permitted with Cisco Adapter FEX. Answer: A QUESTION 32Your

customer is designing a new data center with FCoE. Which three appropriate platforms are capable of meeting this requirement?

(Choose three.) A.    Cisco Nexus 5596 switch with FCoE licenseB.    Cisco Nexus 7010 switch with FCoE licenseC.    Cisco Fabric

Extender with FCoE supportD.    Cisco 2948 switch with FCoE licenseE.    Cisco Catalyst 6509 switch with FCoE blade Answer:

ABC QUESTION 33What is one required component to run FCoE? A.    iSCSI gatewayB.    Fibre Channel adapterC.    HBAD.   

Converged network adaptors Answer: D QUESTION 34Access layer switches are located as which type of design to provide

network connectivity to servers that are installed in rack? A.    ToR designB.    MoR designC.    EoR designD.    ILR Answer: A

QUESTION 35Which two technologies can overcome the link blocking feature that STP implements to ensure a loop-free topology?

(Choose two.) A.    vPCB.    ISSUC.    MECD.    NX-OS HAE.    GLBP Answer: AC QUESTION 36Your customer would like to

run FCoE in the access layer. Which fabric extender should the customer utilize in its design? A.    Cisco Nexus 2148TB.    Cisco

Nexus 2224TPC.    Cisco Nexus 2248TP-FD.    Cisco Nexus 2232PP Answer: D QUESTION 37Which Cisco Nexus switch offers

possibilities for implementation of the virtual switching layer in VMware? A.    Cisco Nexus 5596 SwitchB.    Cisco Nexus 7010

SwitchC.    Cisco Nexus 1000v SwitchD.    Cisco Nexus 2248 FEX Answer: C QUESTION 38Which item represents a method of

increasing storage utilization efficiency? A.    thin provisioningB.    thick provisioningC.    transparent provisioningD.    hold-back

provisioningE.    weighted provisioning Answer: A QUESTION 39Which item uses TCP as a block I/O transport? A.    NFS v4B.   

HyperTransportC.    AoED.    FCoEE.    CIFSF.    iSCSI Answer: F QUESTION 40What is required to allow for FCoE multihop

prior to the ratification of FC-BB-6? A.    VN to VF encapsulationB.    FIP snoopingC.    FCoE proxyD.    Fibre Channel bridging at

FC-2E.    VE to VE tunneling Answer: B   !!!RECOMMEND!!!  1.Braindump2go|2016.Nov. Latest 642-996 Exam Dumps (PDF
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